
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

KLARCO
T1>

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

4
-1

2
1

0
1

2
3

1

Commercial faucets



Suitable for: Suitable for:

<T2

Column faucets
T2>

<|3459008 |> ASSEM B LY SU PP ORT ST YL-K3 e  90° PIPE "S" <|3459007 |> ASSEM B LY SU PP ORT ST YL-K3 e  90° PIPE "U "
spout ø 18 x 300 mm spout ø 18 x 300 mm

 column connection ø 3/4"  column connection ø 3/4"
 power connection ø 1/2"  power connection ø 1/2"

    

KLARCO  1S.2691.74.K33  KLARCO  1S.2690.C2.K33

<|3459004 |> SIN G LE HOLE SPOU T W ITH TOW ER ST YL-K3e <|3459005 |> SIN G LE HOLE SU PPOR T ST YL LEVER
rise 400 mm cartridge with ceramic discs V070 ø 47 mm

 spout ø 20 x 300 h 150 mm  rise 300 m m
 tap fitting ø 1"h 50 mm  spout ø 25 x 300 h 150 mm
 fitting ø 1/2" for copper pipe supply  tap connection ø 1"1/2 h 80 mm
  power supply in copper tubes connection ø 1/2"

    

KLARCO  1S.2435.07.K33  KLARCO  1S.2943.91.73

<|3459006 |> SIN G LE HOLE SU PPOR T ST YL LEVER <|3459002 |> SIN G LE HOLE SU PPOR T ST YL-K 3e
cartridge with ceramic discs V070 ø 47 mm rise 200 mm

 double swivel barrel ø 25 x 300+300 mm  spout ø 20 x 250 h 120 mm
 with rise 300 mm  tap connection ø 1"h 50 mm
 tap connection ø 1"1/2 h 80 mm  supply tubes copper connection ø 1/2"
 power supply in copper tubes connection ø 1/2"  

    

KLARCO  1S.2943.E4.73  KLARCO  1S.2420.07.K33

<|3459003 |> SIN G LE HOLE SU PPOR T ST YL-K 3e <| |>

rise 400 mm
 spout ø 20 x 250 h 150 mm  
 tap connection ø 1"h 50 mm  
 supply tubes copper connection ø 1/2"  

    

KLARCO  1S.2435.05.K33  

<T1

KLARCO
T1>



Suitable for: Suitable for:

<T2

Drain assembly
T2>

<|3316010 |> BR ASS DR AIN A SSEM BLY ø 1"1/2 <|3448070 |> OVERF LOW  PIPE
external ø 67 mm - internal ø 40 mm of stainless steel

 connection ø 47 mm  ø 40 mm - overall height 230 mm
  for drain assembly ø 1"1/2

    

KLARCO  5400100 KLARCO  6A.6061.00.00  KLARCO  5310230 KLARCO  6A.6042.00.00

<|3448071 |> OVERF LOW  PIPE <|3448076 |> OVERF LOW  PIPE
of stainless steel of stainless steel

 ø 40 mm - overall height 280 mm  ø 40 mm - overall height 320 mm
 for drain assembly ø 1"1/2  for drain assembly ø 1"1/2

    

KLARCO  5310280 KLARCO  6A.6048.00.00  KLARCO  5310320 KLARCO  6A.6045.00.00

<|3316011 |> BR ASS DR AIN A SSEM BLY ø 2" <|3448079 |> OVERF LOW  PIPE
external ø 80 mm - internal ø 50 mm of stainless steel

 connection ø 59 mm  ø 50 mm -overall height 300 mm
  for drain assembly ø 2"

    

KLARCO  5400200 KLARCO  6A.6062.00.00  KLARCO  5000320 KLARCO  6A.6053.00.00 KLARCO  6A.6054.00.00

<|3448081 |> OVERF LOW  PIPE <|3448082 |> OVERF LOW  PIPE
of stainless steel of stainless steel

 ø 50 mm - overall height 230 mm  ø 50 mm - overall height 280 mm
 for drain assembly ø 2  for drain assembly ø 2"

    

KLARCO  5000230 KLARCO  6A.6051.00.00  KLARCO  5000280 KLARCO  6A.6052.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3316013 |> ST. STEEL/P LASTIC D RA IN  ASSEM B LY ø 2" <|3448079 |> OVERF LOW  PIPE

external ø 70 mm - internal ø 50 mm of stainless steel
 connection ø 59 mm  ø 50 mm -overall height 300 mm
  for drain assembly ø 2"

    

KLARCO  6A.6065.00.00  KLARCO  5000320 KLARCO  6A.6053.00.00 KLARCO  6A.6054.00.00

<|3448081 |> OVERF LOW  PIPE <|3448082 |> OVERF LOW  PIPE
of stainless steel of stainless steel

 ø 50 mm - overall height 230 mm  ø 50 mm - overall height 280 mm
 for drain assembly ø 2  for drain assembly ø 2"

    

KLARCO  5000230 KLARCO  6A.6051.00.00  KLARCO  5000280 KLARCO  6A.6052.00.00

<|3316012 |> ST.STEEL/PL ASTIC DR AIN ASSEM BLY ø 1"1/2 <| |>

external ø 70 mm - internal ø 50 mm
 connection ø 47 mm  

    

KLARCO  5100150 KLARCO  6A.6064.00.00  

<T2

Faucets and mixers
T2>

<|3759269 |> CER AM IC SCREW  R H 3/4"  BR OACH  ø 8x20 <|3759257 |> G IANT SING LE HOLE ST YL-K3
valves ø 3/4" high flow

  spout ø 25 x 300 h 150 mm
  mixer connection ø 1"1/2 h 80 mm
  supply copper tubes ø 15 mm
  connections ø 1/2"

    

KLARCO  0P.V050.00.00/S  KLARCO  1S.2200.39.K13

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759258 |> G IANT SING LE HOLE ST YL-K3 <|2102996 |> HA ND LE K9 CON TR OL SCREW  ø  3/4" R ED

valves ø 3/4" high flow for tap 1S.3037.05.K59
 spout ø 25 x 300 h 250 mm  
 mixer connection ø 1"1/2 h 80 mm  
 supply copper tubes ø 15 mm  
 connections ø 1/2"  

    

KLARCO  1S.2200.40.K13  KLARCO  0P.HK9/R

<|2102995 |> KN OB K9 FOR  VALVE 3/4 "BLUE <| |>

for tap 1S.3037.05.K59

    

KLARCO  0P.HK9/B  

<|3759238 |> SIN G LE BASIN  TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
spout "J" ø 20x300h250 mm broach ø 8x20

 valve ø 3/4" high capacity  
 connection ø 1/2"  

    

KLARCO  1S.1014.08.K13  KLARCO  0P.HK3/B

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359251 |> SPOU T ø 20x300 m m

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.C067.00.00 KLARCO  0031301

<|3759240 |> SIN G LE BASIN  TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
spout "J" ø 20x250h120 with screw broach ø 8x20

 valve ø 3/4" high capacity  
 connection ø 1/2" h 50 mm  

    

KLARCO  1S.2006.05.K13  KLARCO  0P.HK3/B

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW

quick coupling

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.C005.00.00

<|3759241 |> SIN G LE BASIN  TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
spout "J" ø 20x300h150 with screw broach ø 8x20

 valve ø 3/4" high capacity  
 connection ø 1/2" h 50 mm  

    

KLARCO  1S.2006.07.K13  KLARCO  0P.HK3/B

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.C007.00.00

<|3759242 |> SIN G LE BASIN  TAP ST YL-K3 <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
spout "J" ø 20x350h150 with screw

 valve ø 3/4" high capacity  
 connection ø 1/2" h 50 mm  

    

KLARCO  1S.2006.09.K13  KLARCO  0P.P091.00.00

<|3759274 |> SCR EW -IN SPOU T ø 20x350 m m <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL
O) L.115 (standard)

    

KLARCO  0P.C009.00.00  KLARCO  0P.P092.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759239 |> SIN G LE W ALL M O UN TED TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E

spout "S" ø 25x250h70 mm broach ø 8x20
 valve ø 3/4" high capacity  
 connection ø 1/2"  

    

KLARCO  1S.1014.S3.K13  KLARCO  0P.HK3/B

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <| |>

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  

<|3359356 |> SIN G LE-HOLE LEVER M IXER <|3359107 |> CLINICAL GR AY LEVER 220 m m
with extractable shower

 mounting hole ø 52 mm  
 hoses ø 12 mm  
 hose length 1475 mm  

    

KLARCO  1S.2930.80.81 KLARCO  1S.2930.80.82 KLARCO  9012030  KLARCO  0P.H002.00.00

<|3359231 |> EXTR AC TABL E SH OW ER  H OSE <|3359297 |> M IXER  CAR TR IDG E (BIG  T YPE)

    

KLARCO  0P.F027.00.00 KLARCO  9010002/V KLARCO  9012032  KLARCO  0P.V090.00.00 KLARCO  0030112

<|3359357 |> PU LL-OU T SPR AY HEAD  ø 1/2"M <| |>

    

KLARCO  0P.C080.00.00 KLARCO  9012031  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359215 |> SIN G LE-HOLE PU SH-OU T SHOW ER <|3359231 |> EXTR AC TABL E SH OW ER  H OSE

mounting hole ø 55 mm
 connecting hoses ø 12 mm  
 hoses length 1475 mm  

    

KLARCO  1S.2440.80.33 KLARCO  1S.2441.80.K33 KLARCO  1S.2441.80.33  KLARCO  0P.F027.00.00 KLARCO  9010002/V KLARCO  9012032

KLARCO  9012020  

<|3359357 |> PU LL-OU T SPR AY HEAD  ø 1/2"M <| |>

    

KLARCO  0P.C080.00.00 KLARCO  9012031  

<|3359163 |> SIN K H OLE TAP ST YL-K 3 <|3759272 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" B LU E
spout ø 20x300h150 mm broachø 8x20

 mixer connection 3/4" h 50 mm  
 power source nickel plate copper ø 1/2"  

    

KLARCO  1S.2401.67.33 KLARCO  1S.2402.07.K33 KLARCO  1S.2402.07.33  KLARCO  0P.HK3E/B

KLARCO  2009300  

<|3759279 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" R ED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broach ø 8x20

    

KLARCO  0P.HK3E/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW <| |>

    

KLARCO  0P.C007.00.00  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759243 |> SIN K H OLE TAP ST YL-K 3e <|3759272 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" B LU E

spout ø 20x250h120 mm broachø 8x20
 mixer connection 3/4" h 50 mm  
 power source nickel plate copper ø 1/2"  

    

KLARCO  1S.2402.05.K33  KLARCO  0P.HK3E/B

<|3759279 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" R ED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broach ø 8x20

    

KLARCO  0P.HK3E/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW <| |>

quick coupling

    

KLARCO  0P.C005.00.00  

<|3759244 |> SIN K H OLE TAP ST YL-K 3e <|3759272 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" B LU E
spout ø 20x350h150 mm broachø 8x20

 mixer connection 3/4" h 50 mm  
 power source nickel plate copper ø 1/2"  

    

KLARCO  1S.2401.49.33 KLARCO  1S.2402.09.K33 KLARCO  2012000  KLARCO  0P.HK3E/B

<|3759279 |> HA ND LE K3e CONTR OL SCR EW S ø 1/2" R ED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broach ø 8x20

    

KLARCO  0P.HK3E/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759274 |> SCR EW -IN SPOU T ø 20x350 m m <| |>

    

KLARCO  0P.C009.00.00  

<|3759245 |> SIN K H OLE TAP ST YL-K 9e <|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20
ceramic disc valves ø 1/2" 90°

 spout ø 20x250h120 mm  
 mixer connection 3/4" h 50 mm  
 Nickel-plated copper supply ø 1/2"  

    

KLARCO  1S.2402.05.K49  KLARCO  0P.V040.00.00/S

<|2111218 |> CER AM IC VALVE LH ø 1/2 "B ROACH 8x20 <|3759270 |> KN OB VOX F OR  LA RG E SCR EW  ø 1/2" RED
CR ( red profile)

    

KLARCO  0P.V040.00.00/D KLARCO  0030021/D  KLARCO  0P.HK9E/R

<|5063825 |> KN OB VOX F OR  VALVE ø 1/2 "B LU E <|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW
quick coupling

    

KLARCO  0P.HK9E/B  KLARCO  0P.C005.00.00

<|3759246 |> SIN K H OLE TAP ST YL-K 9e <|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20
ceramic disc valves ø 1/2" 90°

 spout ø 20x250h150 mm  
 mixer connection 3/4" h 50 mm  
 Nickel-plated copper supply ø 1/2"  

    

KLARCO  1S.2402.07.K49  KLARCO  0P.V040.00.00/S

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|2111218 |> CER AM IC VALVE LH ø 1/2 "B ROACH 8x20 <|3759270 |> KN OB VOX F OR  LA RG E SCR EW  ø 1/2" RED

CR ( red profile)

    

KLARCO  0P.V040.00.00/D KLARCO  0030021/D  KLARCO  0P.HK9E/R

<|5063825 |> KN OB VOX F OR  VALVE ø 1/2 "B LU E <|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW

    

KLARCO  0P.HK9E/B  KLARCO  0P.C007.00.00

<|3759247 |> SIN K H OLE TAP ST YL-K 9e <|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20
ceramic disc valves ø 1/2" 90°

 spout ø 20x250h150 mm  
 mixer connection 3/4" h 50 mm  
 Nickel-plated copper supply ø 1/2"  

    

KLARCO  1S.2402.09.K49  KLARCO  0P.V040.00.00/S

<|2111218 |> CER AM IC VALVE LH ø 1/2 "B ROACH 8x20 <|3759270 |> KN OB VOX F OR  LA RG E SCR EW  ø 1/2" RED
CR ( red profile)

    

KLARCO  0P.V040.00.00/D KLARCO  0030021/D  KLARCO  0P.HK9E/R

<|5063825 |> KN OB VOX F OR  VALVE ø 1/2 "B LU E <|3759274 |> SCR EW -IN SPOU T ø 20x350 m m

    

KLARCO  0P.HK9E/B  KLARCO  0P.C009.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759275 |> TAP  KN OB R ED  OLD  T YPE <| |>

broach ø 8x20

    

KLARCO  0P.H033.00.00/R  

<|3759250 |> TW O-HOLE INCLINED  COU NTER ST YL-K 3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
large screws ø 3/4" broach ø 8x20

 spout ø 20 x 250 h 120 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3011.05.K13  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW <| |>

quick coupling

    

KLARCO  0P.C005.00.00  

<|3759251 |> TW O-HOLE INCLINED  COU NTER ST YL-K 3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
large screws ø 3/4" broach ø 8x20

 spout ø 20 x 300 h 150 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3011.07.K13  KLARCO  0P.HK3/B

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW <| |>

    

KLARCO  0P.C007.00.00  

<|3759252 |> TW O-HOLE INCLINED  COU NTER ST YL-K 3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
large screws ø 3/4" broach ø 8x20

 spout ø 20 x 350 h 150 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3011.09.K13  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759274 |> SCR EW -IN SPOU T ø 20x350 m m <| |>

    

KLARCO  0P.C009.00.00  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759249 |> TW O-HOLE STR AIG HT COU N TER  ST YL -K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E

large screws ø 3/4" broach ø 8x20
 spout ø 20 x 350 h 150 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3007.09.K23  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759274 |> SCR EW -IN SPOU T ø 20x350 m m <| |>

    

KLARCO  0P.C009.00.00  

<|3759253 |> TW O-HOLE STR AIG HT COU N TER  ST YL -K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
with rises 40 mm broach ø 8x20

 valves ø 3/4"  
 spout ø 20 x 300 h 150 mm  
 distance between holes 155 mm  
 connections ø 1/2"h 50 mm  

    

KLARCO  1S.3045.07.K23  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW <| |>

    

KLARCO  0P.C007.00.00  

<|3359186 |> TW O-HOLE STR AIG HT COU N TER  ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
valves ø 3/4" broach ø 8x20

 spout ø 20 x 250 h 120 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3002.64.23 KLARCO  1S.3007.05.K23 KLARCO  1S.3007.05.23  KLARCO  0P.HK3/B

KLARCO  3010253  

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW <| |>

quick coupling

    

KLARCO  0P.C005.00.00  

<|3759248 |> TW O-HOLE STR AIG HT COU N TER  ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
large screws ø 3/4" broach ø 8x20

 spout ø 20 x300 h 150 mm  
 distance between holes 155 mm  
 connections ø 3/4" h 50 mm  

    

KLARCO  1S.3007.07.K23  KLARCO  0P.HK3/B

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW <| |>

    

KLARCO  0P.C007.00.00  

<|3359165 |> W AL L M OU N TED HOR IZONTAL TAP <|3359290 |> TAP  KN OB BLUE OLD  T YPE
spout: ø 20 x 300 mm broach ø 8x20

 connection ø 1/2"M  

    

KLARCO  1C.1001.74.K33 KLARCO  1S.1001.74.33 KLARCO  1052300  KLARCO  0P.H003.00.00/B KLARCO  0P.H033.00.00/B

<|3759254 |> W AL L M OU N TED TW O-HOLE TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
valves ø 3/4" broach ø 8x20

 spout ø 20 x 250 h120 mm with screw  
 distance between holes 155 mm  
 connection ø 1/2"  

    

KLARCO  1S.4005.05.K23  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW <| |>

quick coupling

    

KLARCO  0P.C005.00.00  

<|3759255 |> W AL L M OU N TED TW O-HOLE TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
valves ø 3/4" broach ø 8x20

 spout ø 20 x 250 h120 mm with screw  
 distance between holes 155 mm  
 connection ø 1/2"  

    

KLARCO  1S.4005.07.K23  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|2101010 |> SUP PLY SPOU T ø 20x300 m m  SCR EW <| |>

    

KLARCO  0P.C007.00.00  

<|3759256 |> W AL L M OU N TED TW O-HOLE TAP ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
valves ø 3/4" broach ø 8x20

 spout ø 25 x 300 h70 mm with screw  
 distance between holes 155 mm  
 attacchi ø 1/2"  

    

KLARCO  1S.4006.S3.K23  KLARCO  0P.HK3/B

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<T2

Hose reels
T2>

<|3359557 |> HYD RO -G UN  N ITO I <|3359559 |> HYD RO -G UN  N ITO 1
special connection only for MIDIREEL GROUP with adjusting spray

 with spray regulator  jet pipe 45 cm

    

KLARCO  0R.P146.00.00  KLARCO  0R.P039.00.00 KLARCO  0R.P147.00.00

<|5025999 |> M IN IR EEL W ASH ING  U NIT <|3359620 |> HO SE EPDM  6x13 1600 m m
with automatic retractor with couplings 3/8"

 EPDM rubber pipe ø 12 mm  for MINIREEL
 complete with shower ECO/F  

    

KLARCO  4R.MINI.LX5  KLARCO  F036 KLARCO  0R.F036.00.00 KLARCO  0R.F065.00.00

 KLARCO  9200FLE

<|3359288 |> SHOW ER HEAD ECO/P 3/8"F <| |>

with push button

    

KLARCO  0P.P134.00.00  

<|2102809 |> TAP E SPR ING  F OR  M AX IR EEL 10 <|2110826 |> TAP E SPR ING  F OR  M AX IR EEL 4
FOR MAXIREEL 10

    

KLARCO  0R.P201.00.00  KLARCO  K20.0220/4 KLARCO  0R.P173.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|2110990 |> W ASH  G ROU P M AXIR EEL M 10 <|2111952 |> W ASH  G ROU P M AXIR EEL M 10

with automatic retractor with automatic retractor

    

KLARCO  5R.M10.146 KLARCO  5R.M10.448 KLARCO  9300120  KLARCO  5R.M20.149 KLARCO  5R.M20.219 KLARCO  5R.M20.449

<|3659001 |> W ASH  G ROU P M INIR EEL <|3359620 |> HO SE EPDM  6x13 1600 m m
with automatic retractor with couplings 3/8"

 rubber tube EPDM ø 12 mm  for MINIREEL
 complete with shower ECO/F  

    

KLARCO  KLARCO  F036 KLARCO  0R.F036.00.00 KLARCO  0R.F065.00.00

 KLARCO  9200FLE

<|3359288 |> SHOW ER HEAD ECO/P 3/8"F <| |>

with push button

    

KLARCO  0P.P134.00.00  

<|3359552 |> W ASH IN G  U NIT M A XIREEL <|2103911 |> HYD RO -G UN  N ITO I CON NEC TION  1/2"
with automatic retractor with jet adjustment

 rubber pipe EPDM diameter 13 mm  
 extractable pipe length 15000 mm  

    

KLARCO  5R.M15.146 KLARCO  5R.M15.448 KLARCO  9300020  KLARCO  0P.P448.00.00

<|3359555 |> W ASH IN G  U NIT M ID IR EEL <|3359610 |> BL ACK SHOW ER  CASE ECO ø 1/2"M
with automatic retractor with coupling 3/8"Mx1/2"M

 rubber pipe EPDM ø 13 mm  
 pull-out pipe length 300 cm  
 complete with shower ECO/F  
 for wall mounting  
 rotation 180°  

    

KLARCO  5R.M03Q.043 KLARCO  5R.M4Q.043 KLARCO  9210000  KLARCO  0P.P042.00.00 KLARCO  9030302

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359611 |> SPRAY CU P W ITH F ILTER <| |>

    

KLARCO  0P.P088.00.00 KLARCO  9030301  

<|3359556 |> W ASH IN G  U NIT M ID IR EEL <|2103911 |> HYD RO -G UN  N ITO I CON NEC TION  1/2"
with automatic retractor with jet adjustment

 rubber pipe EPDM ø 13 mm  
 pull-out pipe length 600 cm  
 complete with NITO water gun  
 maximum pressure 6 bar  
 max water temperature 40°C  
 for wall mounting  
 rotation 180°  

    

KLARCO  5R.M06Q.146 KLARCO  5R.M6Q.448 KLARCO  9210100  KLARCO  0P.P448.00.00

<|3359553 |> W ASH IN G  U NIT M IN IR EEL <|3359610 |> BL ACK SHOW ER  CASE ECO ø 1/2"M
stainless steel case aisi 304 with coupling 3/8"Mx1/2"M

 with automatic retractor  
 EPDM hose ø 13 mm  
 pull-out hose length 160 cm  
 complete with shower ECO/F  
 for fixing to any equipment  

    

KLARCO  4R.MINI.KI KLARCO  9200000  KLARCO  0P.P042.00.00 KLARCO  9030302

<|3359611 |> SPRAY CU P W ITH F ILTER <| |>

    

KLARCO  0P.P088.00.00 KLARCO  9030301  

<T1

KLARCO
T1>



Suitable for: Suitable for:

<T2

Lever mixers
T2>

<|2101866 |> SIN G LE LEVER  M IXER  STYL <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic disks V090 ø 40

 grey lever 220 mm  
 built-in spout 220 mm  
 power supply ø 1/2"  

    

KLARCO  1S.2962.00.81 KLARCO  1S.2962.00.82  KLARCO  0P.H002.00.00

<|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE <|3359299 |> M IXER  CAR TR IDG E (SM ALL T YPE)

    

KLARCO  0P.P065.00.00  KLARCO  0P.V080.00.00 KLARCO  0030111

<|3259018 |> SIN G LE-HOLE LEVER M IXER  ST YL <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V090 ø 40

 gray lever 220 mm  
 pipe ø 25 x 250 mm  
 power ø 1/2"  

    

KLARCO  1S.2960.57.92  KLARCO  0P.H002.00.00

<|3359297 |> M IXER  CAR TR IDG E (BIG  T YPE) <|3359250 |> SPOU T ø 20x250 m m

    

KLARCO  0P.V090.00.00 KLARCO  0030112  KLARCO  0P.C057.00.00 KLARCO  0P.C064.00.00 KLARCO  0031300

<|3259019 |> SIN G LE-HOLE LEVER M IXER  ST YL <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V070 ø 47

 high capacity  
 grey lever 220 mm  
 spout ø 25 x 225 mm  
 mixer connection ø 3/4" h 50 mm  
 power supply via copper tubes connections ø 1/2"  

    

KLARCO  1S.2901.82.72  KLARCO  0P.H002.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|2101110 |> SPOU T "J"  SHAPE ø 25 x  25 h 80 m m

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.C082.00.00

<|3259020 |> SIN G LE-HOLE LEVER M IXER  ST YL <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V070 ø 47

 high capacity  
 grey lever 220 mm  
 spout ø 25 x 275 mm  
 mixer connection ø 3/4" h 50 mm  
 power supply via copper tubes connections ø 1/2"  

    

KLARCO  1S.2901.87.72  KLARCO  0P.H002.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3259024 |> SPOU T J SH APE ø 25 x 275 h 130 m m

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.C087.00.00

<|3359178 |> SIN G LE-HOLE LEVER M IXER  ST YL <|3359297 |> M IXER  CAR TR IDG E (BIG  T YPE)
cartridge with ceramic discs V090 ø 40

 gray lever 220 mm  
 pipe ø 20 x 300 mm  
 power ø 1/2"  

    

KLARCO  1S.2960.59.91 KLARCO  1S.2960.59.92 KLARCO  2062000  KLARCO  0P.V090.00.00 KLARCO  0030112

<|3359252 |> SPOU T ø 20x320x200 m m <| |>

    

KLARCO  0P.C059.00.00 KLARCO  0031302 KLARCO  0031302/S  

KLARCO  0031306  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359182 |> SIN G LE-HOLE LEVER M IXER  ST YL <|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE

cartridge with ceramic discs V090 ø 40
 gray lever 220 mm  
 cats spuot 180 mm  
 power ø 1/2"  

    

KLARCO  1S.2960.45.91 KLARCO  1S.2960.45.92 KLARCO  1S.2965.45.92  KLARCO  0P.P065.00.00

KLARCO  2063000  

<|3359297 |> M IXER  CAR TR IDG E (BIG  T YPE) <|3359268 |> SPOU T 180 m m

    

KLARCO  0P.V090.00.00 KLARCO  0030112  KLARCO  0P.C045.00.00 KLARCO  0031356

<|3259021 |> TW O-HOLE COU N TER  STYL SIN GLE LEVER M IXER <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V070 ø 47 mm

 gray lever 220 mm  
 cast spout 220 mm  
 distance between holes 155 mm  
 connections ø 1/2" h 50 mm  

    

KLARCO  1S.3021.49.72  KLARCO  0P.H002.00.00

<|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE <|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE)

    

KLARCO  0P.P065.00.00  KLARCO  0P.V070.00.00 KLARCO  0030110

<|3259025 |> SPOU T 220 m m  FOR  TW O-HOLE M IXER <| |>

    

KLARCO  0P.C049.00.00  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3259022 |> TW O-HOLE COU N TER  STYL SIN GLE LEVER M IXER <|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE

with rises 150 mm
 cartridge with ceramic discs V070 ø 47  
 grey lever 300 mm  
 cast spout 270 mm  
 distance between holes 155 mm  
 connection ø 1/2"h 50 mm  

    

KLARCO  1S.3022.48.71 KLARCO  1S.3025.48.71  KLARCO  0P.P065.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359117 |> M IXER  CON TR OL LEVER 300 m m
connection 10x10 mm

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.H011.00.00

<|3359269 |> SPOU T 270 m m  FOR  TW O-HOLE M IX <| |>

    

KLARCO  0P.C048.00.00 KLARCO  0031350  

<|3359181 |> TW O-HOLE SING LE LEVER  M IXER <|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE
connections ø 3/4"MM

 distance between holes 155 mm  
 spout 250 mm  

    

KLARCO  1S.3020.48.71 KLARCO  1S.3020.48.75 KLARCO  1S.3081.48.71  KLARCO  0P.P065.00.00

KLARCO  2075000  

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359117 |> M IXER  CON TR OL LEVER 300 m m
connection 10x10 mm

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.H011.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359269 |> SPOU T 270 m m  FOR  TW O-HOLE M IX <| |>

    

KLARCO  0P.C048.00.00 KLARCO  0031350  

<|3259023 |> TW O-HOLE W ALL M OU NTED  SING LE LEVER  M IX ER <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V070 ø 47 mm

 gray lever 220 mm  
 cast spout 220 mm  
 distance between holes 155 mm  
 connections ø 1/2  

    

KLARCO  1S.4021.49.72  KLARCO  0P.H002.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <| |>

    

KLARCO  0P.V070.00.00 KLARCO  0030110  

<|3359179 |> TW O-HOLE W ALL M OU NTED  SING LE LEVER  M IX ER <|3359107 |> CLINICAL GR AY LEVER 220 m m
cartridge with ceramic discs V090 ø 40 mm

 gray lever 220 mm  
 cast spout 200 mm  
 distance between holes 155 mm  
 connections ø 1/2  

    

KLARCO  1S.4030.51.81 KLARCO  1S.4030.51.91 KLARCO  1S.4030.51.92  KLARCO  0P.H002.00.00

KLARCO  3061000  

<|3359299 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|2100374 |> SUP PLY SPOU T 200 m m

    

KLARCO  0P.V080.00.00 KLARCO  0030111  KLARCO  0P.C051.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359183 |> W AL L M OU N TED TW O-HOLE SING LE LEVER  M IX ER <|3359107 |> CLINICAL GR AY LEVER 220 m m

cermica disks cartridge V090 ø 40 mm
 lever gray 220 mm  
 spout 300 mm  
 distance between holes 155 mm  
 connections ø 1/2"  

    

KLARCO  1S.4030.53.81 KLARCO  1S.4030.53.91 KLARCO  1S.4030.53.92  KLARCO  0P.H002.00.00

KLARCO  3062300  

<|3359299 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359187 |> SPOU T LEN GTH 300 m m

    

KLARCO  0P.V080.00.00 KLARCO  0030111  KLARCO  0P.C053.00.00 KLARCO  0031330

<T2

Pre-rinse units
T2>

<|2101704 |> HO SE ø 1/2" FF  1050 m m <| |>

double braided stainless steel 18/10
 transparent PVC coating  
 brass revolving fitting ø 1/2 "F  

    

KLARCO  0P.P163.00.00  

<|3759217 |> PR E-W ASH KIT <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
connection conical rise ø 1/2" x 80 mm

 spout half tube ø 20 x 250 mm  
 for PEDAL TAP  

    

KLARCO  3S.2040.S1.K33  KLARCO  0P.P091.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3359236 |> HO SE ø 1/2" FF  1200 m m

broach ø 8x20 with double braiding in stainless steel 18/10
  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.HK3/B  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3359237 |> SHOW ER SPR ING <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL
O) L.115 (standard)

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.P092.00.00

<|3759268 |> PR E-W ASH KIT NEW  M OD EL <| |>

stainless steel tube graft - screw fixing

    

KLARCO  2S.0000.03.00  

<|3359205 |> PR E-W ASH KIT OLD M ODEL <|3359364 |> HO SE ø 1/2" Fx1/2"M  1200 m m
stainless steel tube with sleeve ø 1/2"

    

KLARCO  2S.0000.00.00 KLARCO  9070000  KLARCO  0P.P028.00.00 KLARCO  9000210

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359237 |> SHOW ER SPR ING <| |>

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  

<|2110418 |> SCR EW  EUR OP 3/4"  (7.8x20) <|2111521 |> SET SCREW  SW ITCH  ø 1/2 "D X

    

KLARCO  0P.V010.00.00 KLARCO  0030014  KLARCO  0P.V047.00.00/D

<|3759223 |> SIG LE H OLE "LCL" PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
single hole with lever connection ø 3/4"x h 50 mm

 cartridge with ceramic discs ø 47 mm high capacity  
 non-return valve  
 nickel plated copper connections ø 1/2"  

    

KLARCO  2S.2945.03.73  KLARCO  0P.P091.00.00

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE)
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.V070.00.00 KLARCO  0030110

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759224 |> SIG LE H OLE "LCL" PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
single hole with lever connection ø 3/4"x h 50 mm

 cartridge with ceramic discs ø 47 mm high capacity  
 with tap at half spout ø 20 x 250 mm  
 with non-return valves  
 nickel plated connections ø 1/2"  

    

KLARCO  3E.2940.59.79 KLARCO  3S.2945.S1.73  KLARCO  0P.P091.00.00

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE)
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.V070.00.00 KLARCO  0030110

<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759218 |> SIN G LE BASIN  PR E-W ASH  KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
connection ø 1/2"X h50 mm

 valve "EUROP" ø 3/4" high capacity  

    

KLARCO  2S.2006.03.K13  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759219 |> SIN G LE BASIN  PR E-W ASH  KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
connection ø 1/2"X h50 mm

 valve ø 3/4" high capacity  
 with tap at half spout ø 20 x 250 mm  

    

KLARCO  3S.2006.S1.K13  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759220 |> SIN G LE HOLE PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
ceramic disc valves ø 1/2" 90°

 mixer basin connection ø 3/4"  
 power source nickel plate copper ø 1/2"  
 with non-return valves  

    

KLARCO  2S.2403.03.K49  KLARCO  0P.P091.00.00

<|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20 <|2111218 |> CER AM IC VALVE LH ø 1/2 "B ROACH 8x20

    

KLARCO  0P.V040.00.00/S  KLARCO  0P.V040.00.00/D KLARCO  0030021/D

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3759270 |> KN OB VOX F OR  LA RG E SCR EW  ø 1/2" RED
with double braiding in stainless steel 18/10 CR ( red profile)

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.HK9E/R

<|5063825 |> KN OB VOX F OR  VALVE ø 1/2 "B LU E <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

    

KLARCO  0P.HK9E/B  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359237 |> SHOW ER SPR ING <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL

O) L.115 (standard)

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.P092.00.00

<|3759221 |> SIN G LE HOLE PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
ceramic disc valves ø 1/2" 90°

 with tap at half spout ø 20 x 250 mm  
 mixer basin connection ø 3/4"  
 Nickel-plated copper supply ø 1/2"  
 with non return valves  

    

KLARCO  3S.2403.S1.K49  KLARCO  0P.P091.00.00

<|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20 <|2111218 |> CER AM IC VALVE LH ø 1/2 "B ROACH 8x20

    

KLARCO  0P.V040.00.00/S  KLARCO  0P.V040.00.00/D KLARCO  0030021/D

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3759270 |> KN OB VOX F OR  LA RG E SCR EW  ø 1/2" RED
with double braiding in stainless steel 18/10 CR ( red profile)

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.HK9E/R

<|5063825 |> KN OB VOX F OR  VALVE ø 1/2 "B LU E <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

    

KLARCO  0P.HK9E/B  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359237 |> SHOW ER SPR ING <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL

O) L.115 (standard)

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.P092.00.00

<|3759222 |> SIN G LE HOLE PR E-W ASH KIT ST YL <| |>

cartridge with ceramic discs ø 70 mm
 gray clinic lever 220 mm  
 spout ø 25 x 275 mm  
 attacchi rame nichelato ø 1/2"  
 basin connection ø 3/4"  
 with non-return valves  

    

KLARCO  2S.2914.03.72/C87  

<|3359148 |> SIN G LE-HOLE LEVER SH OW ER  ST YL <|3359365 |> HO SE ø 1/2" M x1/2" F 1000 m m
cartridge with ceramic discs ø 70 mm stainless steel 18/10 double braid

 gray clinical lever 220 mm  with transparent PVC coating
 spout ø 25 x 275 mm  nickel-plated brass coupling ø 1/2"F
 nichel plated copper fittings ø 1/2"  
 basin connection ø 3/4"  
 with non-return valves  

    

KLARCO  2S.2911.03.76 KLARCO  2S.2911.03.76/C82 KLARCO  2S.2914.03.72/C82  KLARCO  0P.P036.00.00 KLARCO  5100151 KLARCO  9000235

KLARCO  2S.2914.03.76/C82  

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359237 |> SHOW ER SPR ING <|2101110 |> SPOU T "J"  SHAPE ø 25 x  25 h 80 m m

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.C082.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759282 |> SIN G LE-HOLE LEVER ST YL W ITH  SHOW ER <| |>

spout 250 mm
 lever shower with hose 1000 mm  
 mounting hole ø 35 mm  

    

KLARCO  1S.2920.42.88/47B  

<|3359207 |> SIN G LE-HOLE PR E-W ASHIN G KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
connection ø 3/4"M

 tap with spout  
 brew spout 300 mm  
 fixing hole ø 29 mm  

    

KLARCO  3S.2401.73.33 KLARCO  3S.2403.S1.K33 KLARCO  3S.2403.S1.33  KLARCO  0P.P091.00.00

KLARCO  9072050  

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359365 |> HO SE ø 1/2" M x1/2" F 1000 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M
stainless steel 18/10 double braid

 with transparent PVC coating  
 nickel-plated brass coupling ø 1/2"F  

    

KLARCO  0P.P036.00.00 KLARCO  5100151 KLARCO  9000235  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3359209 |> SIN G LE-HOLE PR EW ASH SET ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
with pre-wash set

 mixer with basin connections  
 with retention valves  
 connection ø 3/4"M  

    

KLARCO  2S.2401.00.33 KLARCO  2S.2403.03.K33 KLARCO  2S.2403.03.33  KLARCO  0P.P091.00.00

KLARCO  9071020  

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359364 |> HO SE ø 1/2" Fx1/2"M  1200 m m <|3359236 |> HO SE ø 1/2" FF  1200 m m
with double braiding in stainless steel 18/10

  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.P028.00.00 KLARCO  9000210  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359237 |> SHOW ER SPR ING <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL

O) L.115 (standard)

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.P092.00.00

<|2101510 |> TAP E SPR ING <|2111899 |> TAP E SPR ING  M ID IREEL

    

KLARCO  0R.P164.00.00  KLARCO  0R.P258.00.00

<|2111900 |> TOOTH SPR ING  F OR M IDIR EEL <| |>

    

KLARCO  0R.P167.00.00  

<|3759227 |> TW O-HOLE H IG H  KIT PR E W A SH  ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
high mixer 100 mm slanted

 basin connection ø 3/4"  
 distance between holes 155 mm  
 with non return-valves  

    

KLARCO  2S.3011.03.K13  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759228 |> TW O-HOLE H IG H  PR E-W ASH K IT  ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
mixer 100 mm high inclined

 basin connection ø 3/4"  
 with tap at half spout ø 20 x 250 mm  
 distance between holes 155 mm  
 with non-return valves  

    

KLARCO  3S.3011.S1.K13  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759229 |> TW O-HOLE H IG H  PR E-W ASH K IT  ST YL <|3759230 |> TW O-HOLE H IG H  PR E-W ASH K IT  ST YL
ceramic disc valves ø 3/4" 90° ceramic disc valves ø 3/4" 90°

 mixer 100 mm high inclined  mixer 100 mm high inclined
 basin connection ø 3/4"  basin connection ø 3/4"
 distance between holes 155 mm  distance between holes 155 mm
 with non-return valves  with non-return valves

    

KLARCO  2S.3037.03.K59  KLARCO  3E.3013.33.59 KLARCO  3S.3037.S1.K59

<|3759231 |> TW O-HOLE PR E-W ASH "M IX" KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
with pre-wash unit h 80 mm

 cartridge with ceramic discs  
 gray lever 220 mm  
 cast spout 220 mm  
 with non-return valves  
 connections ø 1/2" h 50 mm  
 distance between holes 155 mm  

    

KLARCO  2S.3029.03.72/C49  KLARCO  0P.P091.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359107 |> CLINICAL GR AY LEVER 220 m m <|3359236 |> HO SE ø 1/2" FF  1200 m m

with double braiding in stainless steel 18/10
  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.H002.00.00  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE <|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE)

    

KLARCO  0P.P065.00.00  KLARCO  0P.V070.00.00 KLARCO  0030110

<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759232 |> TW O-HOLE PR E-W ASH "M IX" KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
with pre-wash unit h 150 mm

 cartridge with ceramic discs  
 gray lever 300 mm  
 cast spout 270 mm  
 with non-return valves  
 connections ø 3/4" h 50 mm  
 distance between holes 155 mm  

    

KLARCO  2S.3023.03.71/C48  KLARCO  0P.P091.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|2101796 |> JET BR EAKER M 24x1 COM PLETE W ITH SIEVE

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P065.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359117 |> M IXER  CON TR OL LEVER 300 m m
connection 10x10 mm

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.H011.00.00

<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <|3359269 |> SPOU T 270 m m  FOR  TW O-HOLE M IX
O) L.115 (standard)

    

KLARCO  0P.P092.00.00  KLARCO  0P.C048.00.00 KLARCO  0031350

<|3759237 |> TW O-HOLE PR E-W ASH "M IX" KIT ST YL <| |>

with pre-wash unit h 300 mm
 cartridge with ceramic discs  
 gray lever 300 mm  
 cast spout 270 mm  
 with non-return valves  
 connections ø 1/2" h 80 mm  

    

KLARCO  2S.3034.03.71/C48  

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|2101867 |> TW O-HOLE R IGH T BEN CH ST YL-K3 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E

with rises 40 mm broach ø 8x20
 spout ø 20 x 250 h 120 mm  
 distance between holes 155 mm  
 connections ø 1/2"h 50 mm  

    

KLARCO  1S.3008.14.23 KLARCO  1S.3045.05.K23 KLARCO  1S.3045.05.23  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20
broachø 8x20

    

KLARCO  0P.HK3/R  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3759083 |> SUP PLY SPOU T ø 20x250 m m  SCR EW <| |>

quick coupling

    

KLARCO  0P.C005.00.00  

<|3759225 |> TW O-HOLE SHOR T PRE-W ASH  KIT  ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
mixer basin connection ø 3/4" h 50 mm

 distance between holes 155 mm  
 non-return valves  

    

KLARCO  2S.3007.03.K23  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759226 |> TW O-HOLE SHOR T PRE-W ASH  KIT  ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
mixer basin connection ø 3/4" h 50 mm

 distance between holes155 mm  
 with tap at half spout ø 20 x 250 mm  
 with non-return valves  

    

KLARCO  3S.3007.S1.K23  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

with double braiding in stainless steel 18/10
 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3359204 |> TW O-HOLE SING LE LEVER  M IXER <|3359364 |> HO SE ø 1/2" Fx1/2"M  1200 m m
basin conections mixer

 with non-return valve  
 spout 270 mm  
 extension H=300 mm connections ø 1/2"  
 distance between connections 155 mm  
 flow rate 16/35 L/min  

    

KLARCO  2E.3034.48.71  KLARCO  0P.P028.00.00 KLARCO  9000210

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE)
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.V070.00.00 KLARCO  0030110

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359117 |> M IXER  CON TR OL LEVER 300 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

connection 10x10 mm

    

KLARCO  0P.H011.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<|3359237 |> SHOW ER SPR ING <| |>

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  

<|3759233 |> TW O-HOLE W ALL M OU NTED  PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
non-return valves

 attacchi ø 1/2"  
 distance between holes 155 mm  

    

KLARCO  2S.4051.03.K23  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759234 |> TW O-HOLE W ALL M OU NTED  PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
with tap at half pipe ø 25 x 250 mm

 non-return valves  
 attacchi ø 1/2"  
 distance between holes 155 mm  

    

KLARCO  3S.4051.S1.K23  KLARCO  0P.P091.00.00

<|3759181 |> CER AM IC SCREW  R H ø 1/2" B ROACH ø 8x20 <|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E
broach ø 8x20

    

KLARCO  0P.V040.00.00/S  KLARCO  0P.HK3/B

<|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED <|3359236 |> HO SE ø 1/2" FF  1200 m m
broachø 8x20 with double braiding in stainless steel 18/10

  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.HK3/R  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359360 |> M IXER  SP RAY HEAD ø 1/2"M <|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20

    

KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00  KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00

<|3359237 |> SHOW ER SPR ING <| |>

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  

<|3759235 |> TW O-HOLE W ALL M OU NTED  PR E-W ASH KIT ST YL <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
diverter headwork with ceramic discs 90°

 spout "s" ø 20 x 250 mm  
 with non-return valves  
 connections ø 1/2"  
 distance between holes 155 mm  

    

KLARCO  2S.4011.03.K13CS3  KLARCO  0P.P091.00.00

<|3759273 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  BLU E <|3759271 |> HA ND LE K3 CON TR OL SCREW S ø 3/4"  RED
broach ø 8x20 broachø 8x20

    

KLARCO  0P.HK3/B  KLARCO  0P.HK3/R

<|3359236 |> HO SE ø 1/2" FF  1200 m m <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M
with double braiding in stainless steel 18/10

 with transparent PVC coating  
 swivel brass fitting ø 1/2"F  

    

KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359118 |> OIL BATH  TAP W OR M  ø 1/2" BR OACH 8x20 <|3359237 |> SHOW ER SPR ING

    

KLARCO  0P.VOL0.00.00 KLARCO  0P.V030.00.00  KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226

<|3759281 |> SHOW ER U NIT W ALL M O UN T STIL <| |>

O) L.115 (standard)

    

KLARCO  0P.P092.00.00  

<|3759236 |> TW O-HOLE W ALL M OU NTED  SING LE LEVER  M IX ER <|2111703 |> BR ACKET FOR  SHO W ER  BOD Y ST YL
cartridge with ceramic discs

 gray lever 220 mm  
 cast spout 220 mm  
 retention valves  
 connections ø 1/2" h 50 mm  
 distance between holes 155 mm  

    

KLARCO  2S.4024.03.72/C49  KLARCO  0P.P091.00.00

<|3359107 |> CLINICAL GR AY LEVER 220 m m <|3359236 |> HO SE ø 1/2" FF  1200 m m
with double braiding in stainless steel 18/10

  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.H002.00.00  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359237 |> SHOW ER SPR ING <|3759281 |> SHOW ER U NIT W ALL M O UN T STIL

O) L.115 (standard)

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.P092.00.00

<|2101832 |> VALVE ST YL 3/4" 8x20 <| |>

    

KLARCO  0P.V020.00.00  

<|3359202 |> W AL L M OU N TED TW O-HOLE SING LE LEVER  M IX ER <|3359107 |> CLINICAL GR AY LEVER 220 m m
wall mixer

 with non-return valves  
 spout 220 mm  
 eccentric fittings 3/4"x 1/2"  
 distance between connections 160 mm  
 flow rate 16/35 L/min  

    

KLARCO  2E.4022.49.72 KLARCO  2E.4024.49.72  KLARCO  0P.H002.00.00

<|3359364 |> HO SE ø 1/2" Fx1/2"M  1200 m m <|3359236 |> HO SE ø 1/2" FF  1200 m m
with double braiding in stainless steel 18/10

  with transparent PVC coating
  swivel brass fitting ø 1/2"F

    

KLARCO  0P.P028.00.00 KLARCO  9000210  KLARCO  0P.F029.00.00 KLARCO  0P.P162.00.00

<|3359298 |> M IXER  CAR TR IDG E (SM ALL T YPE) <|3359360 |> M IXER  SP RAY HEAD ø 1/2"M

    

KLARCO  0P.V070.00.00 KLARCO  0030110  KLARCO  0P.P045.00.00/N KLARCO  0P.P046.00.00

<T1

KLARCO
T1>



Suitable for: Suitable for:
<|3359237 |> SHOW ER SPR ING <|3359269 |> SPOU T 270 m m  FOR  TW O-HOLE M IX

    

KLARCO  0P.P005.00.00 KLARCO  9000221 KLARCO  9000226  KLARCO  0P.C048.00.00 KLARCO  0031350

<|3359605 |> W HITE SH OW ER H EAD N EW  ø 1/2"F <|2102965 |> COM PLETE SPOU T ASSEM BLY
"New/F" single jet for shower heads produced since

  09/2010

    

KLARCO  0P.P041.00.00 KLARCO  0P.P054.00.00/N KLARCO  9030100  KLARCO  0P.P468.00.00

KLARCO  9030500  

<|2100347 |> PISTON SEAL B ODY SHOW ER  43 m m <|2100346 |> SPRIN G ø 12x19 m m

    

KLARCO  0P.P022.00.00 KLARCO  9000241  KLARCO  0P.P023.00.00 KLARCO  9000242

<|3359606 |> W HITE SP RAY CU P W ITH  F ILTER <| |>

    

KLARCO  0P.P021.00.00/N KLARCO  0P.P052.00.00  

<T2

Springs
T2>

<|2101784 |> SPRIN G FOR  M ID IREEL <| |>

    

KLARCO  0R.P211.00.00  

<T1

KLARCO
T1>



Suitable for: Suitable for:

<T2

Washing showers for ovens
T2>

<|3359615 |> F LEX HOSE ø 1/2"F F 200 cm <|3359614 |> STAINLESS STEEL HOSE ø 1/2"F F 150 cm
stainless steel 18/10 double braid stainless steel 18/10 double braid

 with transparent PVC coating  with transparent PVC coating
 nickel-plated brass fitting ø 1/2"F  nickel-plated brass coupling ø 1/2"F

    

KLARCO  4A.F006.00.00 KLARCO  9030060  KLARCO  4A.F007.00.00 KLARCO  9030061

<|3359616 |> STAINLESS STEEL HOSE ø 1/2"F F 250 cm <|3359617 |> STAINLESS STEEL HOSE ø 1/2"F F 300 cm
stainless steel 18/10 double braid stainless steel 18/10 double braid

 with transparent PVC coating  with transparent PVC coating
 nickel-plated brass coupling ø 1/2"F  nickel-plated brass coupling ø 1/2"F

    

KLARCO  4A.F005.00.00 KLARCO  9030062  KLARCO  4A.F028.00.00 KLARCO  4F.F028.00.00 KLARCO  9030063

<|3359332 |> W AL L BR ACKET SU PPO RT <|3359604 |> W AL L M OU N TED TA P
for flexible sliding inlet-outlet connection ø 1/2"M

    

KLARCO  4P.P040.00.00 KLARCO  9030070  KLARCO  4A.6006.00.00 KLARCO  9030080

<T1

KLARCO
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

